
 

Převody jednotek-515-02-008-04-1 

Strana 1 (celkem 2) 

4.1 4.2 

 

___________________________________________________________________________ 
 

 1 bod 
 

Úloha 4 
 

Převeďte na uvedené jednotky: 
 

4.1  115 mm2 + 14 cm2 =                  cm2   

___________________________________________________________________________ 
 

V záznamovém archu uveďte čísla doplněná do rámečků. 
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𝟏𝟓, 𝟏𝟓 

___________________________________________________________________________ 
 

 1 bod 
 

Úloha 4 
 

Převeďte na uvedené jednotky: 
 

4.1  115 mm2 + 14 cm2 =                  cm2   

___________________________________________________________________________ 
 

Řešení 
 

4.1  115 mm2 + 14 cm2 =    𝟏𝟓, 𝟏𝟓    cm2   
 

115 mm2 = 1,15 cm2 
 

1,15 cm2 + 14 cm2 = 𝟏𝟓, 𝟏𝟓 cm𝟐 
 

 
 

V záznamovém archu uveďte čísla doplněná do rámečků. 
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